
Group: FOCS-SUPERFOCS

Engine: LDW 502   Drawing: I

CONTROLS

POS. CODE DESCRIPTION Qty

  1 3240.153 nut M 6 1

  2 4670.062 copper gasket diam. 6,2 X 10 X 1,5 1

  3 «–––––» locking nut M 10 (Es.16) 0

  4 6000.049 nut 1

  5 5201.339 lever 1

  6 1380.103 INJECTION PUMP CONTROL ROD 1

  8 6320.073 plate 1

  8a «–––––» plate - no longer available 0

  9 9732.096 screw M 3 X 6 2

 11 4480.046 gasket 16X20 1

 12 8576.076 eXt.f.device->3200 R.P.M. 1

 12 8576.077 eXtra fuel device 1

 14 9790.023 screw M 5 X 7 1

 16 1200.052 O ring 1

 17 3240.009 nut 2

 18 9180.191 adjuster M 6 2

 19 5655.257 device spring 1

 20 «–––––» plate 0

 21 771R.001 washer diam. 5,3 1

 22 3203.075 nut M 8 1

 23 7626.037 washer 2

 24 5655.185 spring (black) 3600R.P.M. 1

 24 5655.210 spring (red) 3000R.P.M. 1

 24 5655.241 spring  (light blue) 1500 R.P.M. 1

 25 3240.008 nut M 6 2

 26 1760.128 adjusting bolt M 6X25 2

 27 6110.101 control lever pin 1

 28 6000.049 nut 1

 29 9865.202 screw M 3 X 10 2

 30 1200.037 rubber oil seal 1

 31 1755.001 bolt M 5 X 0,8 X 8 1

 32 5200.414 lever 1

 33 3240.008 nut M 6 1

 34 5660.047 stop lever recovery spring 1

 35 1200.051 rubber oil seal 1

 36 6275.114 locking plate 1

 37 1760.128 adjusting bolt M 6X25 1

 38 3203.048 nut M 6 1

 39 4670.062 copper gasket diam. 6,2 X 10 X 1,5 1

 41 5660.065 recovery spring 1

 42 1957.014 sleeve 1

 43 1760.081 screw M 6 X 20 1

 44 5200.674 internal lever 1

 45 «–––––» see Pos. 47+… 0

 46 6140.420 journal 1

 47 4896.360 GOVERNOR LEVER ASS.Y 1

 48 6760.044 stud M 6 X 7 1

 50 1954.020 sleeve 1

 51 5200.413 lever 1

 57 6370.331 locking plate 1

 58 4896.330 governor ass.y with ball bearing 1

127 1755.001 bolt M 5 X 0,8 X 8 1

128 7625.285 washer diam. 5,3 1

printed by LOMBARDINI:   11/08/2010  -      1



Group: FOCS-SUPERFOCS

Engine: LDW 502   Drawing: I

CONTROLS

POS. CODE DESCRIPTION Qty

129 6140.550 lever shaft 1

130 3203.050 selflocking nut M 6 1

printed by LOMBARDINI:   11/08/2010  -      2



Engine: LDW 502  Drawing: I

printed by LOMBARDINI:   11/08/2010


